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Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.

Answer all questions.

Answer the questions in the spaces provided

— there may be more space than you need.

You must show all your working.

Diagrams are NOT accurately drawn, unless otherwise indicated.
Calculators may be used.

If your calculator does not have a 7 button, take the value of 7 to be
3.142 unless the question instructs otherwise.

Information

The total mark for this paper is 80
The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it.
Try to answer every question.
Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

25 —\43.87

1 (a) Work out the value of
6+ 2.1

Write down all the figures on your calculator display.

. 76527723

(b) Work out the value of the reciprocal of 0.625

| 2 o 1.4

e

5

\

0.625

(Total for Question 1 is 3 marks)
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DO NOT WRITE IN THIS AREA

DO NOTWRITE IN THIS AREA

DO NOT WRITE IN THIS AREA

2 Write 60 as a product of its prime factors.

A X A X 33X 5

(Total for Question 2 is 2 marks)

3 There are 48 counters in a bag.
There are only red counters and blue counters in the bag.

number of red counters : number of blue counters = 1:2

Helen has to work out how many red counters are in the bag.
She says,
“There are 24 red counters in the bag because 1 is half of 2 and 24 is half of 48”

Is Helen correct?
You must give a reason for your answer.

(Total for Question 3 is 1 mark)
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( )

4 2<n<>5

n is an integer.

(a) Write down the greatest possible value of 7.

(b) On the number line below, show the inequality —4 <m < 1

| | | | | | | | | | | | >
m

|
-6 -5 4 3 2 -1 0 1 2 3 4 5 6
2

(c) Solve gg—4<6

;3 < 10

23<50

j<«9~5

(Total for Question 4 is 6 marks)
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DO NOT WRITE IN THIS AREA

DO NOTWRITE IN THIS AREA

DO NOT WRITE IN THIS AREA

5 Here is a triangle and a rectangle.

6x 4x -1

8

All measurements are in centimetres.
The area of the triangle is 10cm” greater than the area of the rectangle.

Work out the value of x.

Tr}anglt: Re ctangle :
Arf’m = !/2)‘ 3 X éJL A’rea = 6)& (q');"'\)
= s(4x )
- Yy x 6
) = 20x - 5
= 24 x _—

_ LS
Z -
Af

- .25

(Total for Question 5 is 4 marks)
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6 Last year a family recycled 800kg of household waste.
57% of this waste was paper and glass.

weight of paper recycled : weight of glass recycled = 12:7 19 par ts

Calculate the weight of glass the family recycled.

0. .57 x 300 = 456

4 56 - 2y (QQQV\ Po(k 1S D—'-l:-‘/“j}
1T
7x 2y = 1638 k3

(Total for Question 6 is 3 marks)
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DO NOT WRITE IN THIS AREA

7 A number, d, is rounded to 1 decimal place.
The result is 12.7

Complete the error interval for d.

G 0 S LT

(Total for Question 7 is 2 marks)

8 Tamsin buys a house with a value of £150000
The value of Tamsin’s house increases by 4% each year.

Rachel buys a house with a value of £160000
The value of Rachel’s house increases by 1.5% each year.

At the end of 2 years, whose house has the greater value?
You must show how you get your answer.

Tamsia ! jsoo000Q < (. 0% = £162240

i
600006 x [.015 = 2 164836

)Qo;cL\QL'S hou s€

(Total for Question 8 is 4 marks)
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9 The cumulative frequency table gives information about the ages of 80 people working
for a company.

Age (a years) | Cumulative frequency
20 < a <30 20
20 < a <40 48
20 <a <50 64
20 < a <60 75
20<a <70 80

(a) On the grid opposite, draw a cumulative frequency graph for this information.

2

(b) Use your graph to find an estimate for the median age.
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(Total for Question 9 is 3 marks)
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10 A biased dice is thrown 60 times.

The table shows information about the number that the dice lands on each time.

Number on dice 1 2 3 4 5 6

Frequency 12 | 7 8 9 9 | 15

Gethin throws the dice twice.

(a) Work out an estimate for the probability that the dice will land on 6 both times.

15 -

60 ¢4
/ l ‘ /
_— X _— = - —

Sally is going to throw the same dice » times and record the number it lands on
each time.

She will use her results to work out a more reliable estimate for the probability
in part (a).

(b) What can you say about the value of n?

___________________ n._ musk be greates thow 60

(Total for Question 10 is 4 marks)
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 DONOTWRITEINTHISAREA DO NOTWRITE INTHIS AREA
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( )

11 Use algebra to solve the simultaneous equations

2+ 6y=5 x>
3x—4y=-12 X L

— gsj = -14

6x

i)

31
I. 5

léj
J

)

Lx + 69 = 5
Q,;L—-—\- L(\-SB: S

lx+7‘5

(Total for Question 11 is 4 marks)
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12 The points 4, B, C and D lie on a circle, centre O.
ABCD is a rectangle.

A gcm B

10cm
D C
AB=8cm BC=10cm 2
L 1T 0{
Work out the circumference of the circle. 3 -+ )| O -
Give your answer correct to 3 significant figures. = A t
) 6L
A = (164
- 204 |
Circumberence = 1T &

- ;’f(l\ﬁ;ﬁ
= 40 2 cm

(Total for Question 12 is 4 marks)
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13 ABC is a triangle.

pad
<,

18cm

Calculate the size of angle BAC.
Give your answer correct to 1 decimal place.

O m

Sin 3 _ SN 70
|5 RS
13
- 0D.7%% ...
Y = 51.5
|80 — 70 — SI.5
S8.5

(Total for Question 13 is 4 marks)
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x2—x-6
can be written in the form where a, b, ¢ and d

2X2 —-5x-3 cx +
are integers.

(25 )(>*2)
(2= + 1) (x =3)

14 Show that

2 + 2

Z2x + |

(Total for Question 14 is 3 marks)

15 Here are the first four terms of a quadratic sequence.

39 17 27 antthn+¢

Find an expression, in terms of n, for the nth term of this sequence.

3 9 /7 27
a;—b*t C, 5 | o0
7
3&4—]‘» 2 2
A7
Lo
_, Resr=z=C ox o= S
M - c = - |
= 3
b=z -
/|1+3V\‘l

(Total for Question 15 is 3 marks)
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16 The histogram gives information about the number of hours some students used their
phones last week.
The histogram is incomplete.

24
20

No student used their phone for more than 60 hours.
(b) Work out the total number of students.
20 <x1-6 = 32
Jo < 3.4 ° 36

(&
30 + 56t a4 + 2% T ¥

A
4
3
2.
Frequenc
density %'
|
0 -
0 10 20 30 40 50 60
Number of hours used
. 28 —-—2.%
28 students used their phones for between 30 and 40 hours. o
24 students used their phones for between 40 and 60 hours.
(a) Use this information to complete the histogram. Freq

Freg a(emi(-j = Casswrdtn

(Total for Question 16 is 4 marks)
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17 (a) Show that the equation x*—x>—5=0 can be written in the form x =¥x2 + 5
4 o
> = X +t 5

7c=‘fJx“‘+5

(b) Starting with x, = 1.5
use the iteration formula x = {/x2 +5 three times to find an estimate for

a solution of x* —x*-5=0

2, = ((8)? +5

- . 6407 ..
Zl ‘:_L" A—ﬂsl‘f‘s
- /. 6653 ..

X, = [ 6697 ...

(Total for Question 17 is 4 marks)
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 DONOTWRITEINTHISAREA DO NOTWRITE INTHIS AREA
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18 2a:5¢=6:25
4b:7¢ =20:21
Show that a + b:b+c=17:20
la: Sc GUb: Tc¢
[ 25 20« &
a : C L" - ¢
315 53
3 <5
Qa L C
q 2515
a -+ E L + C
3 4o
(7 - 20
___;__-———;-:____———/
(Total for Question 18 is 3 marks)
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19 ABC is a right-angled triangle.
A

@ 9.3cm

9.06§<0< 9.38

-
B C

AB = 9.3 cm correct to the nearest mm.
AC = 12.6cm correct to the nearest mm.

Calculate the lower bound for the size of the angle marked x.

]2.56 £ H< 1248

You must show all your working. \/

(o)

S X = ?

YN xS = loouLf @)

wepes H

9.268
l2.65

o= @.28
x = g;/) (/zés)

(ol

(Total for Question 19 is 3 marks)
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DO NOT WRITE IN THIS AREA

20 ORT is a triangle.

—> —>
OT =a RT=b
M is the point on OR such that OM: MR =2:3

N
Express MT in terms of a and b.
Give your answer in its simplest form.

ok = -t
MR = %(a.—b)
—> —_— —>
MT = MR + KT
= Pa- AL okh
S 2
= 2o o+ Zb
S S
-’%

3 o+ by
................... *rT s

(Total for Question 20 is 4 marks)
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21 Here is the graph of y = f(x)

(a) On the grid below, draw the graph of y = f(x) -4

) A

=V

=V

(1)

J

20
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(b) On the grid below, draw the graph of y = f(—x)

) A

=V

(1)

(Total for Question 21 is 2 marks)

w,

o RO 0 A
p 7 51 5 0 A 0 2 1 2 8

21

Turn over »



22 There are only blue pens and red pens in a box.
The number of blue pens is four times the number of red pens.

Rita takes at random one pen from the box.
She records the colour of the pen and then replaces it in the box.
Rita does this n times, where n > 2

Write down an expression, in terms of 7, for the probability that Rita gets a blue pen at
least once and a red pen at least once.

L red /L—'LS- blae
l n
oA ed) = (5) .

P (AL wine) =15

n "
p (At least one ol each) = \ — (—%) — (&)

(Total for Question 22 is 2 marks)
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DO NOT WRITE IN THIS AREA

23 Here are three similar

triangles, ABG, ACF and ADE.

A/&A /&\\

ABCD and AGFE are
AB:BC:CD=1:2:3

Show that

S(_a\

Scale

JARN

straight lines.

area of ABG :area of BCFG:area of CDEF=1:8:27

Id Qac,i/or le/\ﬂ’ﬂﬂs l?)'("
129346

Po\ciror 0re o §

IARAN

heea

AG b

\

heew  BCyr = 1 — | = 3

Prew CD

O m

cFf = -1 T 27
| - %8 27
-
(Total for Question 23 is 3 marks)
23
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24 The diagram shows 8 identical regular octagons joined to enclose a shaded shape.

Each octagon has sides of length a.

Find, in terms of @, an expression for the area of the shaded shape.

Give your answer in the form p(2 +2 )a2 where p is an integer.
You must show all your working.

Leagin o} square = o ¥ O T o $ 1

2 <+ «\G-
:\1«(130\

~

Arecw of Squort = kQ.“(\FZ.) >

3&6?*&-1)&1

. \ s L <« axa
frea of trioangic =
T Lat+
kA
N~
RS
L+X )_a. - T &
T

z T
Tobal ovta = (6 +wlz)e + (2

- b + k\'\rl)""—L
= 4(2+G)at

N

P 7 51 5 0 A 0 2 4 2 8
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(Total for Question 24 is 5 marks)

TOTAL FOR PAPER IS 80 MARKS
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